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TEMEL MATEMATİK TESTİ

1) Bu test sizin matematik alanındaki becerilerinizi ölçmek için hazırlanmıştır.
2) Bu testte 40 soru bulunmaktadır.
3)Bu testteki soruların cevapları, cevap kâğıdının Temel Matematik Testi için ayrılmış olan kısmına
işaretlenmelidir.
3) Bu testte istediğiniz sorudan cevaplamaya başlayabilirsiniz.
4) Bu testte cevaplarınızı işaretlerken cevapladığınız soru numarası ile cevap kağıdındaki Temel Matematik
Testi alanındaki cevap numarasının aynı olmasına dikkat etmeniz gerekmektedir.

BASIC MATHS TEST
1) This test is prepared to measure your skills in Maths.
2) There are 40 questions in this test.
3) The answers to the questions in this test should be marked on the part of the Answer Sheet reserved for
Basic Maths Test.
4) In this test, you can start responding at any question you want.
5) In this test, you should pay attention to the question number and the number in answer sheet in Basic
Maths Test part to be the same.
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1.  ∈a,b,c ;  1 16 ( ) ?1 7
ca a b

b
c

+ = ⇒ + =
+

 

A) 64

B) 36

C) 16

D) 27

E) 25

2.  
2 2

0, 4 0,04 0,004 ...
0,5 0,05 0,005 ...

2 ?

a
b

a ab b

= + + +
= + + +

⇒ + + =

A) 1

B) 2

C) 3

D) 4,5

E) 8,1

3. 1

18 81
?

3 54+

= ⇒ =
= 

a

b a  

A) 4
b

B) 
2
b

C) 
4
b

D) b

E) 4b

4. 2 2, ( ) ( ) ?a b a b b a a< − + − + =  

A) 2b a−

B) a

C) 0

D) 3 2a b−

E) 2b

5. 
2 3,
|| 3 | 1| || 2 | 5 | ?
< <
− + − + − =
a

a a

A) 2 1a −

B) 4a

C) 2 5a −

D) 1

E) 2 1a −

6. 0,005 0,004 2 ?
0,005 0,03 5

x x⋅ +
= ⇒ =

+
 

A) 0,2

B) 0,02

C) 0,5

D) 2

E) 20

2.

1.

3.

5.

4.

6.
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7. 20202021 20212020 20202020 20212021 ?⋅ − ⋅ =   

A) 0  

B) 1 

C) 1000  

D) 10000  

E) 10000−  

 
 
 
 
 
 
 
 
8.  

 

 

 

 

      

      

2 2( ) 11 2
| | ,
| | ,
| | 2 | | ?

= + −
= −
= +
= ⇒ =

A ABCFDE x xy y
CF x y
FD x y
DE x BC

 

 

A) 3x y−  

B) 3( )x y+  

C) 3x y+  

D) 4 2x y+  

E) 3x y−  

 
 

 
 

9.   

5 7,
3 6

?

a b b
c c

a
c

+
= =

⇒ =
 

 
A) 2  

B) 7
5

 

C) 1 

D) 3
5

 

E) 1
2

 

 

 

 

 

10.   

,
3: min( ) ?
8
15:
28

a b
x a a b
y
x b
y


∈ 


= ⇒ + =



= 




 

 
A) 24 

B) 20 

C) 18 

D) 17 

E) 14  

 

 

 

 

 

 

9.

10.

 
7.

 
8.

 
7.
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11.  

, 0

2 3 4

?

y z
x y
y z

x y
z

≠

+ = − =

+
⇒ =

 

A) 7 

B) 6 

C) -5 

D) 4 

E) -3 

 

 

12.  
2 3 6
5 2 23

?

x y
x y

x y

+ =
− = −
+ =

 

      
      

A) 0 

B) 1 

C) 2 

D) 3 

E) 4 

 

 

 

 

 

 

 

 

 

 

13. Bir apartmandaki merdiven basamakları 
3’er 3’er çıkıp, 2’şer 2’şer inen Fatih 
toplamda 25 adım atmıştır. Fatih eğer 6’şar 
6’şar çıkıp, 5’er 5’er inseydi toplamda kaç 
adım atmış olur? 
 
Fatih climbed the stairs in an apartment 3 
by 3 and descended 2 by 2, and took 25 
steps in total. How many steps would Fatih 
have taken in total if he had climbed 6 by 6 
and descended 5 by 5? 
 

یصعد فاتح السلم بكل خطوة ثلاث درجات وینزل 
خطوة. فإذا كان فاتح  25وبھذا یكون قد خطا   درجتین

درجات كم  5درجات وینزل  6سیصعد في كل خطوة 
 خطوة سیكون قد خطا؟

 
 

A) 17 

B) 13 

C) 11 

D) 10 

E) 9 

 

 

 

 

 

 

 

 

 

 

 

11.

12.
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14. Marangoz ustası elindeki tahtayı 1:4 
oranında iki parçaya ayırınca büyük parça, 
küçük parçadan 60 cm daha büyük 
olmaktadır. Aynı tahta parçasını 1:9 
oranında iki parçaya bölerse büyük parça 
küçük parçadan kaç cm daha uzun 
olacaktır? 
 
When the carpenter divides a piece of  
wood into two parts at a ratio of 1:4, the 
bigger piece becomes 60 cm longer than 
the smaller piece. If he divides the same 
piece of wood into two pieces at a ratio of 
1:9, how many cm will the bigger piece be 
longer than the smaller piece? 
 

¼ ار لوح من الخشب وقصھا بمعدل إذا كان في ید النج
حیث أصبح اللوح على قطعتین وأصبحت الكبیرة منھا 

 9/1 قصھا بمعدلسم. فلو كان قد  60أكبر من الصغیرة بـ 
(التسع) بالـسنتمتر (سم) كم ستكون القطعة الكبیرة أطول 

 من الصغیرة؟
 

 
A) 70 

B) 75 

C) 80 

D) 85 

E) 90 

 

 

15.  
2 ,

,
2 ,

+ <
Λ = × =
 + >

a b a b
a b a b a b

b a a b
         

  (3 2) (4 5) (3 3) ?Λ Λ Λ − Λ =  

A) 45 

B) 36 

C) 20 

D) 18 

E) 16 

 

16.   
1 2

1{ : ( 1) 4, }
2

?

+
= − ≤ < ∈

⇒ ∩ =



n
n

xA x x

A A
 

 
A) {1, 2} 

B) {1, 2, 3}   

C) {-2, -1, 0, 1, 2} 

D) {1, 2, 3, 4, 5, 6} 

E) {-1, 0, 1, 2, 3, 4, 5, 6, 7} 

 
 
 
17.  A, B, C birer kümedir. 

   A, B, C are sets. 
A, B, C 

 ھي ثلاث مجموعات

 
( ) 7
( ) 9

( ) ?
( ) 11

( ) 32

S A B
S B C

S A B C
S C A

S A B C

− = 
− =  ⇒ ∩ ∩ =− = 
∪ ∪ = 

 

 
 

A) 15 

B) 10 

C)   8 

D) 6 

E) 5 

 
 
 

18. 

2 2 2 2

2 2 2 2

( 1) (2 1)1 2 3
6

( 1) ( 2) ( 9)

?

⋅ + ⋅ +
+ + + + =

+ + + + + + = + +

⇒ + + =





n n nn

x x x ax bx c

a b c

 

A) 386           

B) 385         

C) 384     

D) 380   

E) 329 
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19.  
2 2( ) ( 6 ) ( 6 2) 35

0, ( ) 0 ?
= + ⋅ + − −

> = ⇒ =
P x x x x x
a P a a

 

 
A) 7  

B) 5 

C) 3 

D) 2 

E) 1 

 
 
 
 

20.  
                                         
 
 
 
 
 
 
 
 
 
 
 
 
 
 

1( )( 2) (4) ?
3

f f f f  − + + = 
 

  

 
 

A) 18 

B) 17 

C) 15 

D) 12 

E) 11 

 
 
 
 
 
 
 
 

 
21.  

 

 

 

 

 

 

 

           
( )( ) ( )

( )( )
4 0

?:
62

, ,f
g f

g
f

f g
⋅

→
+

=
⋅ −

   

A) -3 

B) -1 

C) 1 

D) 2 

E) 3 

 

 

 

 

22.  
( ) ( ) ( )
( )
( ) ( ) ( )

 : ,

 2 3
0 4 8 ?

f
f a b f a f b
f
f f f

→

+ = +

=
+ + =

 

 

 

A) 17 

B) 18 

C) 19 

D) 20  

E) 21 

 

 

 

22.

19.
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23.   
2
5cos 12 cot 13 sin ?

13

x

x x x

π π< <

= ⇒ ⋅ − ⋅ =
 

 
A) 5 

B) 7 

C) -17 

D) 17 

E) 18 

 

 

 

24.  

3, ( , 2 )
2

1 3sin
2

?

M x

xM

M

π π∈ ∈

−
=

=



 

 
A) 2 
B) 1 
C) 0 
D) -1 
E) -2 

 
 
 

25.  ( 1) 2 ( 1) ?− = ⇒ + =xf x f x  

 

A) ( )f x  

B) ( ) 2f x −  

C) ( )
2

f x  

D) 2 ( )f x  

E) 2 ( )f x  

 

 

26.  log 2 0,301 log125 ?= ⇒ =  

 

A) 0,699      

B) 2,097       

C) 4,194      

D) 1,398      

E) 0,903 

 

27.  log(5 2) log 2 log3 ?+ + = + ⇒ =xx x x  
 

A) 4     

B) 2    

C) 1/2    

D) 1/4    

E) 0 

            

28.  

           

              
1 2

( ) ( ) 220
?

∠ + ∠ = °
=

d d
m ABC m CDE
α

 

A) 50  

B) 70           

C) 90          

D) 110               

E) 120 

  

23.

24.
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29.  

 

      8 3

8 ?

⊥

=

= = ⇒ =

AB AC

AB

AC AD BD

 

A) 4         

B) 4√3 

C) 8√3    

D) 8 

E) 12 

 

30.  

 

       

( ) 50
( ) 80
( ) 120
( ) 30
( ) ?

m BAD
m CAE
m FBA
m DBC
m ACD x x

∠ =

∠ =

∠ =

∠ =

∠ = ⇒ =











 

A) 10          

B) 20       

C) 30         

D) 40     

E) 50 

31.  
 

 
 
 
 
 

 

           
| | | | | | | |
[ ] [ ] [ ] [ ]

( ) ?
( )

BF FE ED DA
DG EH FI BC

A ADG
A GBC

= = =

⇒ =

  





   

A) 
1
2

 

B) 
1

15
 

C) 
1
5

 

D) 1
3

 

E) 1
12

 

 

32. ABCD bir karedir.  
   ABCD is a square. 
 ABCD مربع   

 
 
 
  
 
 

 

    
  [ ] [ ] | | ?⊥ ⇒ =CF DE CF  

A) 8  

B) 9  

C) 10  

D) 11 

E) 12  
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33. Şekilde verilen ABCD bir karedir.   

  ABCD given in the figure is a squar 

ABCD الموضحة في الشكل ھي مربع            

 

 
 
 
 
 
 
 
 
 

  
| | | |

( ) ?o

AC DE
m CBE x x

=

∠ = ⇒ =
 

 

A) 22,5  

B) 45  

C) 60  

D) 67,5  

E) 75  

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

34. ABCD, EFGH ve KLMN birer 
dikdörtgendir. A1 ile A2 kesişen 
dikdörtgenler arasındaki taralı bölgelerin 
alanlarıdır. 
 
ABCD, EFGH and KLMN are rectangles. A1 
and A2 are the areas of the shaded regions 
between the intersecting rectangles. 
 

ABCD و EFGH وKLMN ثلاث مستطیلات 
A1 و A2 ھي مساحات المناطق المظللة بین المستطیلات 

 المتقاطعة
 
 

 
 
 
 
 
 
 
 

        2 2
1 224 , 15 ?aA cm A cm

b
= = ⇒ =  

A) 
5
8

 

B) 
8
5

 

C) 
8
5

 

D) 
5
8

 

E) 5
8
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35. ABCD bir dikdörtgendir.  
  ABCD is a rectangle. 
  ABCD مستطیل                          

 

 

       

 

   90 ?o x
y

α β+ = ⇒ =  

A) 5
2

 

B) 
2
5

 

C) 
4
5

 

D) 
5
4

 

E) 1 

 
 

36.  ABCD paralelkenardır. 
   ABCD is a parallelogram.   
  ABCD            متوازي الأضلاع  

 
     

            ?x =  

A) 5 

B) 4 

C) 9 

D) 10 

E) 13 

37. ABCD ikizkenar yamuktur. 
  ABCD is trapezoidal. 

  ABCD                       شبھ منحرف
 

     

          | | ?= =AB x  

A) 7 

B) 10 

C) 12 

D) 14 

E) 17 
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38.  O, ABCDEF düzgün altıgenin merkezidir.    
S1 ve S2 taralı bölgelerin alanlarıdır.  
 
O is the center of the regular ABCDEF 
hexagon. S1 and S2 are the areas of the 
shaded regions. 

 ABCDEFالمسدس  مركز ھي O النقطة
1S  2وS  

المظللة المناطق مساحات ھي  
 

     

      1 28, ?ED S S= ⇒ + =   

A) 32   

B) 32 2   

C) 32  

D) 64 3  

E) 32 3  

 

 

 

 

 

 

39.  ABCD bir dikdörtgen, F ve G yarım 
çemberlerin merkezidir. 
 
ABCD is a rectangle, F and G is the 
center of semicircles. 

 
 

 

                        ?x =  

A) 24 

B) 25 

C) 26 

D) 27 

E) 28 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

ABCD  , مستطیلF  وG  أنصافھي مراكز 
 دائرة موجود؟ نصف كم ،الدوائر
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40. O daire merkezi, ABCD karedir. Taralı 
alanlar toplamı 225 brπ dir. 
 
O is the center of the circle, ABCD is a 
square, and the area of the shaded 
regions is 225 brπ  
 

O الدائرة مركز ھو 
 ABCD225 ھو المظللة الساحات مجموع و مربع brπ 

 
 

                
 

  
( ) ( ) 90

?

om DEO m OGA
OC

∠ = ∠ =

⇒ =
  

 

A) 10   

B) 5 2   

C) 5 3   

D) 5π   

E) 5 2π   
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GENEL YETENEK TESTİ
1) Bu test sizin soyut düşünme, akıl yürütme ve problem çözme alanlarındaki becerilerinizi ölçmek için 
hazırlanmıştır.
2) Bu testte 40 soru bulunmaktadır.
3) Bu testteki soruların cevapları, Cevap Kâğıdının Genel Yetenek Testi için ayrılmış olan kısmına 
işaretlenmelidir.
4) Bu testte istediğiniz sorudan cevaplamaya başlayabilirsiniz.
5) Bu testte cevaplarınızı işaretlerken cevapladığınız soru numarası ile cevap kağıdındaki Genel Yetenek 
Testi alanındaki cevap numarasının aynı olmasına dikkat etmeniz gerekmektedir.

GENERAL APTITUDE TEST
1) This test is prepared to measure your skills in abstract thinking, reasoning, and problem solving areas.
2) There are 40 questions in this test.
3) The answers to the questions in this test should be marked on the part of the Answer Sheet reserved 
for General Aptitude.
4) In this test, you can start responding at any question you want.
5) In this test, you should pay attention to the question number and the number in answer sheet in 
General Aptitude Test part to be the same.
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1. Şekilde kaç tane üçgen vardır?  

How many triangles are there in the 

figure? 

 في الشكل المعطى كم مثلث یوجد؟
 
 

 
 
 
 
 
 
 

A) 12  

B) 11 

C) 10  

D) 9  

E) 8  

 

2.  
 

 

 

 

 

 

A)              B) 

 

 

 

C)                                        D)   

 

 

 

E) 

3.   
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4. Verilen şekillerden hangisi farklıdır?  

Which of the given shapes is different? 

                         في الأشكال المعطاة أیھا مختلف؟

 
 

A)                   B) 

 

 

 
 

     C)                                        D)   

 

 

 

     E) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

5.   

 

 

 

A)  

 

 

 

B)  

 

 

C)  

 

 

D)  

 

 

E)  
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6.   

 

 

 

 

 

 

 
     X =? 

 

A) 169 

B) 144 

C) 64 

D) 36 

E) 25 

 

 

 

7.  

 

 

 

 

 

A)  TRF  

B) FRQ  

C) TFM  

D) ATQ  

E)  MRF  

 

8.   

 

 

 

 

 

 
a+b+c = ? 
 

A) 9  
B) 10  
C) 11 
D) 12  
E) 13  

 

9.  

 

 

 

 

 

 

A)        B)  

 

 

  

       C)       D) 

 

  

 

       E) 

 
 

 

?
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10. Terazilerin üçü de dengededir.  III. 
terazide soru işaretinin yerine hangisi 
gelebilir?  
 
All three scales are in balance. Which of 
the following/What can replace the 
question mark in the third scale? 
 
الموازین الثلاثة كفاتھا متوازنة. في المیزان الثالث أي 

         مما یلي یصلح أن یكون مكان إشارة الاستفھام ؟
 

 

 

 

 

 

  

 

 

 

 

 

 

 

A)  
 
 

B)  
 
 

C)  

 

D)  

 

E)  

 

 

 

 

11.  
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11.  
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12.  

 

 

 

 

 
 

A)  

B)  

C)  

D)  

E)  

      

 

 

 

 

13.  

 

 

 

 

 

, , , , , ;a b c k m n∈      
3 ?k b
m n
⋅ ⋅

=
⋅

 

 

A) a  
B) b  
C) c  
D) k  
E) m  

 
 
 
 

14.  

 

 

 

 
  
 
 

A)  
 
 

B)  
 

 
C)  

 
 

D)  
 

 
E)   

 

?

?



G
AÜ

N
YÖ

S 
20

21

19

Genel Yetenek | General Aptitude |  المهارات العامة

15.  

 

 

 

 

 

 

 

A) 6 
B) 9 
C) 10 
D) 12 
E) 16 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

16.   

 

 

 

 

 

 

 

 

 

 

A)  

 

 

B)  

 

 

C)  

 

 

D)  

 

 

E)  
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17.  

 

 

 

 

 

 

 

A)  

  
 

B)  

 

 

C)  

 

 

D)  

 

 

E)  

 

 

 

 

 

 

 

 

 

 

18.  

        
2 3 6 21

5 15 7260

→ → →

→ → →X
 

 

         X = ? 
 

A) 75   

B) 90   

C) 120   

D) 150   

E) 180 

 

 

 

19.  

 

 

 

 

 

          K+M = ? 
 

A) 140                   

B) 160                   

C) 180                   

D) 440                   

E) 220 

 

 

  

?

?
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20.  

 

 

 

 

 

 

 

 

 

 

A)  

 
 

B)  

 
 

C)  

 

D)  

 
 

E)  

 

 

 

 

 

 

 

 

 

21.  

 

 

 

 

           ∈ + =x, y , x y ?  

A) 9 

B) 11 

C) 13 

D) 17 

E) 19 

 

 

22.  
 
 
 
 
 
 
 
 
 
 
 

 

 

 

 

 

 

 

 

 

?

?
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23.  A={𝑔𝑔𝑔𝑔, 𝑎𝑎𝑎𝑎, 𝑛𝑛𝑛𝑛, 𝑡𝑡𝑡𝑡, 𝑒𝑒𝑒𝑒, 𝑝𝑝𝑝𝑝} 

101110
100110
?

gnte
gte
atep

=
=
=

 

 

A) 010111 

B) 110110 

C) 010101 

D) 011010 

E) 101001 

 

 

 

 

24.  
 

 

 

 

 

 

 

 

 

A) 3000 

B) 1200 

C) 750 

D) 500 

E) 300 

 

 

 

25.  

 

 

 

 

 

    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

?

?

 
1500
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26. Verilen yapı birim küplerden 
oluşmaktadır. Bu yapıyı bozmadan 
bir küpe tamamlamak için en az kaç 
birim küp gerekir? 
 
The given shape consists of unit 
cubes. How many cubes are needed to 
complete a cube without breaking 
this shape? 
 

الشكل المعطى مكون من وحدة المكعب، كم 
وحدة مكعب على الأقل یلزم حتى یتمم الشكل 

 دون تغییر؟  
 

 

 

 

 

 

 

 

 

A) 9 

B) 17 

C) 18 

D) 27 

E) 46 

 

 

 

 

 

 

 

27.  

 

 

 

 

Kare şeklindeki bir kağıt önce I, sonra 
II’deki gibi işaretli yerlerden katlanarak 
III’teki şekil elde ediliyor. III’te 
gösterilen beyaz renkli bölgeler kesilip 
atıldıktan sonra kağıt açılırsa oluşan 
şekil hangisi gibi olur? 

 
A square-shaped paper is folded from 
the marked places as in I, and then in II, 
and finally figure III is obtained. If the 
paper is opened after the white colored 
areas shown in 3 are cut and discarded, 
which shape will it be like? 

 
ورقة موجودة على شكل مربع، أولاً تطوى الورقة على 
حسب المشار في الشكل الأول، ثم تطوى أیضا حسب 
الشكل الثاني، فیظھر ما تم رسمھ في الشكل الثالث فلو 
قصُّت أماكن اللون الأبیض الظاھرة في الشكل الثالث ثم 

    فتُحت الورقة، ما ھو الشكل الذي سیظھر في الورقة؟

 

 

A)     B) 

 

 

 

C)      D) 

 

 

 

E) 
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28.  

 

 

 

 

 

Şekilde verilen üçgenler belli bir kurala 
göre oluşturulmuştur. Buna göre 6. 
adımda kaç tane üçgen vardır? 

 
The triangles given in the figure are 
formed in a certain rule. According to 
this, how many triangles are there in 6th 
step? 
 
المثلثات المعطاة في الشكل تم تكوینھا على أساس قواعد 

   معینة، وبناء علیھ كم مثلث یوجد في الخطوة السادسة؟
 

A) 31 

B) 43 

C) 63 

D) 65 

E) 127 

 

 

 

 

 

 

 

 

 

 

 

 

29.  

 

 

 

 
 

A)     B) 

 

 
 

C)     D) 

 

 
 

E) 

 

 

  

30.  

 

 

 

 

 

 

 

         K=? 
 

A) 40 

B) 35 

C) 30 

D) 25 

E) 20 

?
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31.  

 

 

 

 

 

 

 

 

 

A) 26 

B) 27 

C) 28 

D) 29 

E) 30 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

32. Verilen 5x5 sudokuda 1’den 5’e kadar 
olan rakamlar her satırda ve her 
sütunda birer kez kullanılmıştır. 
Buna göre aşağıdakilerden hangileri 
doğrudur? 
 
In the given 5x5 sudoku, the numbers 
1 to 5 are used once in each line and 
each column. According to this, which 
of the following are true? 

 أسطر خمس من المكون الاتي الجدول في
 الى واحد من الارقام توزیع سیتم اعمده وخمس
 لا بحیث عمود، وكل سطر كل على خمسة
 الأعمدة في او الاسطر في تكرار ھناك یكون

صحیحة؟ الاتیھ الخیارات من أي   

 
 
 

 

 

 

 

 

 

I. + − =2A B C   
II. ⋅ + =7B C D   

III. − =2 2 0C D   
IV. + + = 8A C E   

 
 
A) I, II 

B) II, III ve IV 

C) I, III ve IV 

D) I, II ve III 

E) I, II, III ve IV 
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33. Verilen 6x6 sudokuda 1’den 6’ya 
kadar olan rakamlar her satır, her 
sütun ve sınırları koyu olan 2x3 lük 
dikdörtgenlerin içinde birer kez 
kullanılmıştır. 
 
In the given 6x6 sudoku, the numbers 
from 1 to 6 are used once in each line 
and in each column and inside the 
2x3 rectangles. 
 

 أعمدة وست أسطر ستة من المكون التالي الجدول في
 الأسطر على ستة الى واحد من الارقام توزیع سیتم

 سطر كل في تكرار ھناك یكون لا بحیث والأعمدة،
 ثلاثة من مكون مستطیل كل وفي عمود، كل وفي

عمودان و أسطر ثلاثة أو وسطران أعمدة  
 
 
 
 
 
 
 
 
 
 
 
A+B = ? 
 
 
A) 7  

B) 8  

C) 9  

D) 10  

E) 11                               

 

 

 

 

 

 

34.  

 

 

 

 

 

 

 

 
A) 5 

B) 4 

C) 3  

D) 2 

E) 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

?



G
AÜ

N
YÖ

S 
20

21

27

Genel Yetenek | General Aptitude |  المهارات العامة

35. Verilen şekillerin aynaya göre 
yansıması hangisidir? 
 
Which of the followings is the mirror 
reflection? 
 
 أي الأشكال المعطاة ھو على حسب انعكاس المرآة؟
  
 
 
 
 
 
 
 
 
 
 
 

A)  

 

 

 

B)  

 

 

C)  

 

  
 

D)  

 
 

 

E)  

 

 

 

36.  

 

 

 

 

 

 

A)  
 
 
 
 
 
 

B)  

 

 

 
 

C)  

 

 

 

 

D)  

 

 

 

 

E)  

 

 

 



G
AÜ

N
YÖ

S 
20

21

28

Genel Yetenek | General Aptitude |  المهارات العامة

37.   

 
 

A) 9  
B) 10  
C) 11 
D) 12  
E) 13  

 

38.   

 

 

 

 

 

 

Verilen yapıda hangi numaralı birim 
küpler beraber çıkarılırsa üstten 
görünüm değişir? 

 
Which numbered unit cubes should be 
removed together in the given shape to 
change the top view? 

 
 یتغیر اخراجھ تم اذا المكعبات أي المرسوم الشكل في

                           الاعلى؟ من الشكل ھذا مظھر
 

A) 1, 2 
B) 1,3 
C) 3,4 
D) 2,3 
E) 2,5 

 

39.  

 

A) 82  

B) 95  

C) 107  

D) 109  

E) 110  
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40.  
 

 

 

 

 

 

Üst yüzeyinde nokta bulunan küp 
şeklindeki cisim, 2’nin kuvvetlerinin 
bulunduğu zeminde okları takip ederek 
ve her kareye bir yüzey gelecek şekilde 
yuvarlanacaktır. Parkuru tamamla- 
dığında noktalı yüzeyin temas ettiği 
karelerde yer alan sayıların çarpımı 
kaçtır? 

 
Cube-shaped object with a dot on its 
upper surface will be rolled one surface 
placed on one square on the floor with 
the powers of 2 as guided by the 
arrows.  What is the product of the 
numbers in the squares where the 
dotted surface touches until the last 
square? 
 

 العلوي سطحھ على نقطة مع مكعب شكل على جسم
 على یوضع واحد سطح على دحرجتھ یتم سوف
 تسترشد كما 2 بقوى الأرض على واحد مربع

 المربعات في الأرقام ضرب حاصل ھو ما .بالأسھم
عالمرب حتى المنقط السطح یتلامس حیث  الأخیر؟ 

 

A) 82  
B) 92  
C) 162  
D) 232  
E) 242  



A 
TEMEL 

MATEMATİK GENEL YETENEK 
1 E 1 B 
2 A 2 D 
3 A 3 B 
4 A 4 D 
5 D 5 D 
6 D 6 A 
7 D 7 A 
8 C 8 C 
9 E 9 A 

10 D 10 A 
11 E 11 E 
12 B 12 E 
13 C 13 A 
14 C 14 B 
15 D 15 B 
16 D 16 C 
17 E 17 B 
18 C 18 C 
19 E 19 D 
20 C 20 B 
21 C 21 A 
22 B 22 E 
23 B 23 A 
24 B 24 E 
25 E 25 D 
26 B 26 E 
27 E 27 C 
28 B 28 C 
29 D 29 C 
30 A 30 C 
31 E 31 B 
32 B 32 C 
33 A 33 C 
34 B 34 D 
35 B 35 B 
36 C 36 C 
37 D 37 B 
38 E 38 C 
39 A 39 C 
40 A 40 E 

 


